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I. Answer all questions.

2. All questions carry equal marks.
3. Only one answer is to be given for each question,
4. If morc than one answers are marked, it would be treated as

wrong answer,

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have (o darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN,

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed o open the Test Booklet, take out the
Answer Sheet and fill in the particulars carcfully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will he
deducted for each wrong answer, A WIong answer means
an incorrect answer or more than onc answers for any
qQuestion. Leaving all the relevant circles or bubbles of any
question blank will not be considered as WIONg answer,

8. Mobile Phone or any other clectronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per Yules.

9. Please correctly fill your Roll Number in O.M.R. Sheet,
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sorl ol ambiguity/mistake either of printing or
factual nature then out of HMindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, ELR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently
from all future examinations,

% Do not open this Test Booklet until you are asked to do so.

T e — — —— — — — — — —

e e e i i il i o



gifera Hife
wieh qadl ez RIDID R
ii, doTSl B. WRE@E (M)
i, st C. Freg i (weld)
jv. aTEst D. i (e
e e I
1 11 111 v
() A B C D
@ B. A D C
3) C D A B
4 A B D C
Ha a1 & e o
(1) THIS (2) e
(3) THTE (4) VeHt=R

iRt S W R A HHE
STl 8 7

(1) SO 6T AAT (2) Rt 1 Hedl
(3) TEOH T (4) SO A

g farea’ T ¥ e § -
(1) Terem 3mmet
(3) wTEhIEE

(2) S@d (TR
(4) T

dgﬂamwmmaﬁa 18, 1948 i
fper g o6 ¢

(1) wowee o (2) SETEET IE&
(3) "wEen e (4) F.. g

1.

Match the following :

Local Deity Main Pilgrimage site
i. Tallinath A. Panchota Village
(Jalore)
ii. Tejaji B. Parbatsar (Nagore)
iii. Devnarayanji C. Kolu Village
(Phallodi)
iv. Pabuji . - .D. Aasind (Bhilwara)

- 3) Sarsura fair

Choose the correct code :

i i @ v
() A B C D
@ B A D C
3 Cc D A B
4w A B D C

The mentor of Saint Pipa was
(1) Ramanuj |
(2) Kabir

(3) Ramanand

(4) Shankaracharya

Which fair is called ‘the ‘Kumbh of
Adivasi’s’ 7 i
(1) Banganga fair (2) Pushkar fair

(4) 'Beneshwar fair

Writer of the book ‘Budhhi Vilas’ is
(1) Kisna Arha

(2) Bakhat Ram Shah

(3) Banki Das

(4) Narottam

Who inaugurated United Rajasthan on
April 18,1948 7

(1) Manikya Lal Varma

(2) Jawahar Lal Nehru

(3) Mahatma Gandhi

(4) K.M. Munshi
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10.

11.

Which of the following deity is
considered child-protecting deity ?

(1) Chauth mata
(2) Chhinchh mata
(3) Ghewar mata
(4) Mahamaya mata

Place where Megha Ram established
Bikaner Praja Mandal in 1936

(1) Bikaner
(2) Calcutta
(3) Bombay
(4) Ajmer

The extent of Rajasthan from north to
south and east to west is respectively

(1) 852 and 878 km
(2) 915 and 842 km
(3) 826 and 869 km
(4) 834 and 887 km

Godwar region is also known as
(1) Luni-Jawai Basin

(2) Ghaggar Plain

(3) Chambal Basin

(4) Kalisindh Basin

According to Koppen’s classification
which type of climate is found in

Ganganagar, Hanumangarh  and
Bikaner districts ?

(1) Bwhw (2) Bshw

(3) Cwg 4) Aw

Sawant Singh, the custodian of

Kishangarh painting style, died at
which place ?

(1) Kishangarh
(3) Jodhpur

(2) Agra
(4) Vrindavan



12.

13.

14.

15.

22 i fdrd-2017 % ITAR TSEAH

3 gefira = 8 1 Sl ?:
(1) 52.38% (2) 48.56%
(3) 55.64% (4) 56.08%

@—Iﬁ@-nﬁgﬂ%aaﬁﬁmaﬂt
£3 fou My F F1 ITN H TYL T
CUSLE
gei-1 gei-11
(wER) (3= 30 feeem)
(A) T i T
(B) S i, SARTFE-30
(C) o= iii. . 3TE1-2035
(D) Herhl iv. T@-3077
T :
A) B © @O
(1) iv i i i
@) iii iv 1 i

3 i i iv i

4) i 1 i1

e P TR -

(1) &HH 2) g

(3) TEHR 4) STH
freffed § & HF o T T G H
HERIh TE @ 7

(1) === ) wEd

(3) ®El @) WA

12.

13.

14.

15.

According to State Forest Report 2017,
the percentage of protected forest area

in Rajasthan is

(1) 52.38% (2) 48.56%
(3) 55.64% (4) 56.08%

Match List-I with List-II and select the
correct answer using the codes given

below :
List—1I List - II
(Crop) (High yielding
“variety)
(A) Wheat i. Mahi Kanchan
(B) Barley ii. RHB-30
(C) Bajra iii.  RD-2035
(D) Maize iv. Raj-3077
Code :
A) B © @D
(1) iv il i i
(2) il 1V i il

3, i iooiv i

@ i i il iv

In Rajasthan ‘Pugal’ is a breed of
(1) Goat (2) Sheep

(3) Cow (4) Camel

Which one of the following is not a
tributary of Banas River ?

(1) Mansi (2) Parvati
(3) Kothari (4) Morel
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(1) 1978 (2) 1985
(3) 1972 4) 1975

16.  According to 2011 Census, which is/are

17.

18.

of the following correct regarding
population of Rajasthan ?
(A) Child Sex-Ratio — 888

(B) Percentage of female literacy —
52.1 -

(C) Percentage of scheduled tribe
population — 16.9

(D) Percentage of Urban population —
25.1

Select the correct answer using code
given below :

Code :

(1) (A) and (B) are correct.

(2) (C) and (D) are correct.

(3) (A), (B) and (C) are correct.

(4) (B), (C) and (D) are correct.

Match List-I (Tourism Centre) with
List-IT (District) and choose the correct
answer from the codes given below :

List - I List - II
(Tourism centre) (District)
(A) Phool Sagar i. Barmer
(B) Gagron Fort ii. Udaipur
(C) Jagdish Mandir iii. Bundi

(D) Kiradu Temple
Code :

(A) (B) (C) (D)
() iv i i i
(2) iii v i ii

(3) i Qv i

iv. Jhalawar

4) iv i i 1

In which of the following year
Rajasthan State Dairy Development
Corporation was established ?

(1) 1978 (2) 1985
(3) 1972 4) 1975
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19. In which of the following ocean the

Jargest mid-oceanic ridge is located ?
(1) Atlantic
(2) Pacific
(3) Arctic
(4) Indian

Where the UN Climate Change
Conference-2018 was held ?

(1) Paris (2) Bonn

(3) Geneva (4) Katowice

In which region of the world ‘Roaring
Forties” blow ?

(1) Between 10°S and 30° S latitudes
(2) Between 40° N and 50° N latitudes
(3) Between 40°S and 50° S latitudes
(4) Between 10° N and 10° S latitudes

Consider the following statements :

(A) The area of Australia is more than
Antarctica.

(B) The area of Europe is less than
South America.

(C) The area of North America is more
than the combined area of Europe
and Australia.

Select the correct answer based on the
above stateme.its.
(1) (A)and (B)are correct.
(2) (B)and (C) are correct.
(3) (A)and (C)are correct.
(4) (A), (B)and (C) are correct.
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27.

Which one of the following state of
India is not having common border
with Bangladesh ?
(1) Meghalaya

(3) West Bengal

(2) Tripura
(4) Nagaland

The Bhagirathi meets the Alaknanda at
(1) Dev Prayag

(2) Vishnu Prayag

(3) Karna Prayag

(4) Rudra Prayag

In July, Inter Tropical Convergence
Zone (ITCZ) is located around

(1) 5°Nto 5°S latitudes

(2) 15° N to 20° N latitudes
(3) 10° N to 15° N Iatitudes
(4) 20° N to 25° N Iatitudes

What are the new trends in Indian
Agricultural scenario in last few
decades ?

(A) Commercialisation of Agriculture
(B) Diversification
activities.

(C) Corporatization of Agriculture.

Codes :

(1) (A) and (B) only
(2) (A)and (C) only
(3) (B)and (C) only
(4) (A), (B) and (C)

of  Agricultural

The correct sequence of the continents
in descending order according to their
population is

(1) Asia, Africa, Europe, South
America.

(2) Asia, Europe, Africa, South
America.

(3) Asia, South America, Europe,
Africa.

(4) Africa, Asia, South America,
Europe.
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28. Under which schedule of the

Constitution of India, a Minister 18
administered the Oath of office and
secrecy by the Governor in a State ?
(1) First Schedule

(2) Second Schedule

(3) Third Schedule

(4) Fourth Schedule

Which of the following is not correct
regarding Governor’s powers ?

(1) Governor can return Money bill to
State Legislature for
reconsideration.

(2) Governor can reserve any bill for
consideration of President of

India.

(3) Governor can promulgate
ordinance during recess of State
Legislature.

(4) Governor has the power to grant
pardons.

The total number of ministers,
including the Chief Minister, in the
Council of Ministers in a State, shall
not exceed of the total number of
members of Legislative Assembly of
that State.

(1) Eighteen percent

(2) Seventeen percent

(3) Sixteen percent

(4) Fifteen percent

Which of the following Indian
industries were influenced negatively
due to partition of India ?

(A) Tron & Steel Industry

(B) Sugar Industry

(C) Cotton Textile Industry

(D) Jute Industry

Codes :

(1) (A),(B)and(D)(2) (B)and (C)
(3) (C)and(D) (4 (B)and (D)
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32.  Which among the following is not true

33.

regarding the Rajasthan Public Service

Commission ?

(1) The members of the Commission
shall be appointed by the President
of India.

(2) The members of the Commission
shall be removed from their office
by the President of India.

(3) The term of office of members
shall be six years or the age of 62
years whichever is earlier.

(4) Members of the Commission are
eligible for appointment as the
Chairman of Union Public Service
Commission.

Read the following statements carefully
regarding the functions of the Chief
Secretary :

(I) He/She is the Principal Advisor of
the Chief Minister.

(II) He/She is the Head of the State
Civil Services.

(II1) He/She is the Chief Advisor of the
Governor of State.

Select the correct answer from the
codes given below :

Codes :

(1) Only (I) and (III) are correct.
(2) Only (II) is correct.

(3) Only (I) and (II) are correct.
(4) Only (III) is correct.
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34.

35.

The total number of Panchayat Samities
in Rajasthan (as on 31% December,
2018) is

(1) 299
(3) 295

(2) 285
(4) 395

What is the ‘quorum’ of the Gram
Sabha ?

(1) One-half of the total number of
members.

(2) One-fourth of the total number of
members.

(3) One-tenth of the total number of
members.

(4) One-fifth of the total number of
members.

Whom do the Sarpanch, Up-Sarpanch
and Ward Panch of village panchayat in
Rajasthan address their resignation to ?

(1) Zilla Pramukh

(2) Vikas Adhikari

(3) Pradhan of Panchayat Samiti
(4) District Collector

In the event of any vacancy in the office
of the Chairperson in the State Human
Rights Commission, who can act as the
Chairperson ?

(1) Governor may authorize one of the
members to act as the Chairperson.

(2) Chief Minister may authorize any
member to act as the Chairperson.

(3) President will appoint a new
Chairperson.

(4) Minister of Home Department
may authorize any member of the
Commission to act as the
Chairperson.
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38.

39.

40.

41.

42.

Which one of the following pairs is not
correctly matched in context to the
sources of the Constitution of India ?

(1) Law making - Great Britain,
process

(2) Directive — Ireland.
Principles of
State Policy

(3) Judicial — United States
Review of America.

(4) Quasi Federal — Switzerland.
Government

Which of the following is not a feature
of Government of India Act, 1935 ?
(1) Federation and Provincial
autonomy

Dyarchy in Centre

Creation of Concurrent List
Dyarchy in Provinces

(2)
3)
4)

During which Prime Minister’s tenure,
Right to Property was deleted from the
list of Fundamental Rights from
Constitution of India ?

(1) Jawaharlal Nehru

(2) Lal Bahadur Shastri

(3) Indira Gandhi

(4) Morarji Desai

‘We, the People of India’ mentioned in
the Preamble of the Constitution, is
closely associated with the following
feature of the Constitution :

(1) Secularism

(2) Sovereign State

(3) Bi-cameralism

(4) Independent Judiciary

When did the State Government of
Rajasthan issue the notification for the
constitution of Rajasthan State Human
Rights Commission ?

(1) 16 March, 2001

(2) 17 January, 1998

(3) 19 February, 1997

(4) 18 January, 1999
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Which one of the following pairs is not
correctly matched ?

Name of State Year of establishment

(1) Gujarat - 1960
(2) Haryana - 1966
(3) Jharkhand - 2000
(4) Sikkim - 1973

Who among the following is one of the
founder members of the ‘Bhartiya
Tribal Party’ ?

(1) Chottubhai Vasava

(2) Gordhan Jhadaphia

(3) Hardik Patel

(4) Chimanbhai Mehta

Which one of the following articles of
the Constitution of India mentions
about word ‘Scientific teriper” ?

(1) 51A(d) (2) 51 A()
(3) 51A () 4) 51 A

India is not a member of which one of
the following organisations ?

(1) BIMSTEC
(2) OPEC
(3) G4

(4) BRICS

Which one of the following Presidents
of India, administered Oath to Atal
Bihari Vajpayee as the Prime Minister
of India in 1998 ?

(1) K.R. Narayanan

(2) A.P.J. Abdul Kalam

(3) R. Venkatraman

(4) Shankar Dayal Sharma

OA
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50.

According to Article 75(1) of the

Constitution of India, the Prime

Minister shall be
(1) appointed (2) nominated

(3) selected (4) elected

Match List-I with List-II and select the

correct answer from the codes given

below : _

_ List-1 List - 11

A. Champaran i. 1928
Satyagraha

B. Rowlatt ii. 1917
Satyagraha

C. Kheda iii. 1919
Satyagraha

D. Bardoli iv. 1918
Satyagraha

Code :
A B C D

() Giy Gv) Gi) @

) Giy @G Gv) @

(3 () (@) () ()

@) Gv) Gi) @i ()

How many Indian Enclaves have been
given to Bangladesh under India-
Bangladesh Agreement signed in 2015 ?

(1) 111 2) 51

(3) 151 4 131
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To be recognised as a national political
party, a party has to secure 2 percent
votes in the Lok Sabha elections from
how many States ?

(1) 3 States
(3) 5 States

(2) 4 States
(4) 6 States

Which of the following Prime Minister
of India initiated ‘Bus Diplomacy’ with
Pakistan ?

(1) P.V.Narsimha Rao

(2) Rajiv Gandhi

(3) Atal Bihari Vajpayee

(4) Morarji Desai

According to the Economic Survey
2017-18, only two states have more
than 50 percent net irrigated area to
total cropped area in India. These two
states are

(1) Punjab and Haryana

(2) Punjab and Uttar Pradesh
(3) Uttar Pradesh and Haryana
(4) Punjab and Tamil Nadu

According to the Constitution of India,
the President shall be elected by the
members of an electoral college,
consisting of

(1) All members of both the Houses of
Parliament and State Legislative
Assemblies.

The elected members of both
Houses of Parliament and elected
members of Legislative Assemblies.
The elected members of Lok
Sabha and Rajya Sabha.

Elected members of both the
Houses of Parliament and State
Legislatures.

)

3)
4)

OA
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According to the Ease of Doing
Business Report 2018, India ranked

(1) 100 among 190 countries
(2) 100 among 180 countries
(3) 130 among 190 countries
(4) 130 among 180 countries

Due to the problem of double counting,
National Income is

(1) over estimated

(2) under estimated

(3) indetermined

(4) uncertain

The Index of Industrial Production (1IP)

_ is . important measure - of - industrial

performance of India. Which of the
following organisation release it ?
National Sample Survey
Organization.

Central Statistics Office.

Reserve Bank of India.

Planning Commission.

@
(3)
4

Which of the following fact is incorrect
regarding National Food Security Act,
2013 of India ?

(1) The Act covers upto 75 percent of

the rural population.

(2) The Act covers upto 50 percent of

the urban population.

The Act covers about two-third of
the total population.

3)

(C))

The Act covers upto 40 percent of
the urban population.
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As Deputy Chief Minister of Rajasthan
Sachin Pilot is not having the charge of
(1) Public Works Department. .

(2) Department of Science and
Technology.

(3) Department of Rural
Development.

(4) Department of  Information

Technology and Communication.

The newly appointed Mission Director
of National Health Mission in
Rajasthan is

(1) Veenu Gupta

(2) Niranjan Kumar Arya

(3) K.K. Pathak

(4) Samit Sharma

The dates for the ‘Jaipur Literature
Festival’, 2019 are

(1) 24-28 January

(2) 24-28 February

(3) 14-18 January

(4) 14-18 March

A variety of migratory- birds come in
every winter to Rajasthan. At which of
the following places Demoiselle Cranes
reach in a very large number ?

(1) Sambhar lake (2) Khinchan

(3) Udaipur -(4) Ajmer

Rajasthan’s Director General of Police,
appointed in December, 2018 is

(1) Kapil Garg

(2) O.P. Malhotra

(3) Anand Srivastava

(4) Indu Kumar

In 2018 Assembly elections of
Rajasthan, the difference of seats won
by Indian National Congress and
Bhartiya Janata Party was

(1) 28 (2) 26
(3) 24 4 21

OA
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Which of the following women of
Rajasthan became the seventh woman
fighter pilot in the Indian Air Force ?
(1) Priya Sharma

(2) Avni Chaturvedi

(3) Bhawna Kanth

(4) Mohana Singh

The newly appointed Health Minister
of Rajasthan is

(1) Raghu Sharma

(2) Pratap Singh

(3) Pramod Bhaya

(4) Harish Choudhary

During the 15" Rajasthan Legislative
Assembly Election, 2018, the death of
which Party’s candidate caused the
postponement of election to Ramgarh-
Alwar Assembly Constituency ?

(1) Bhartiya Janata Party

(2) Indian National Congress
(3) Bahujan Samaj Party

(4) Rashtriya Lok Dal

Who established first Laboratory of
Psychology in Lipzig University,
Germany ?

(1) J.B.Watson (2) Francis Galton
(3) Wilhelm Wundt(4) James Drever

Who  stated that  “Educational
Psychology is that branch of
Psychology which deals with Teaching
and Learning” ?

(1) B.F.Skinner (2) James Drever
(3) E.L. Thorndike (4) Crow & Crow

Which sitting MLA of Rajasthan has
been a Gold medallist at 2010 Common
Wealth Games ?

(1) Rajendra Rathore

(2) Khushveer Singh

(3) Krishna Poonia

(4) Mahadev Singh
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Out of the
Psychologist is
‘functionalism’ ?
(1) William James (2) John Dewey

(3) James R. Angell(4) E.B. Titchener

following  which
not related with

In  which stage of Development
“Narcissim” characteristics is more
powerful ?

(1) Infancy
(2) Childhood
(3) Early adulthood

(4) Late adolescence

Who stated adolescence is the “stage of
stress and storm ?

(1) Ross
(3) Stanley Hall

(2) Valentine
(4) Biggi and Hunt

At the terminal stage of adolescence

weight of muscles becomes how much

percentage of total weight of the
body ?

(1) 33%
(3) 40%

(2) 45%
4) 21%

Out of the following which is not the
characteristics of ‘concrete-operation
stage™ given by Jean Piaget ?

(1) Reversibility of thought

(2) Conservation

(3) Use of serial ordering and part-

whole concepts
(4) Emergence of symbolic function

To measure intelligence of children,
who prepared first intelligence scale ?

(1) J.M. Cattell (2) Alfred Binet
(3) Stenberg (4) Weshtler

0OA
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Out of the following which is not the
component of ‘content dimension’ as
given by Guilford ‘Structure of
Intellect’” model ?
(1) Figural

(3) Symbolic

(2) Cognition
(4) Verbal

Out of the following which is a type
among the classification prescribed by
Kretschmer in his constitutional theory
of personality ?
(1) Endomorphy
(3) Asthenic

(2) Mesomorphy
(4) Ectomorphy
What was the age group prescribed by

‘Bellock’ in his children apperception
test to measure the personality ?

(2) 2to5 years
(4) 5to 10 years

(1) 0to5 years
(3) 3to 10 years

Out of the following which is not the
correct characteristics of learning ?

(D

Learning is not a product, it is

process.

(2) Learning process is always
purposeful.

(3) Learning is based on practice,

training and experience.

4)

Learning is change of behaviour
through instincts & reflexes.

Out of the following which is wrong
pair of “Instinct-Emotion” as given by
McDougal ?

(1) Combat - Fear

(2) Repulsion — Disgust

(3) Parental — Tenderness

(4) Appeal — Distress
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Out of the following which
characteristic is not prescribed by
Gestalt’s Psychologist for learning
process and insight.

(1
(2)
3)

Nature of learning is cognitive.
Learning process is mechanical.

Nature of learning is almost

permanent.

Problematic situation is essential
for insight.

“

“A teacher taught in classroom an
example that plural of House is Houses,
with this learning student make plural
of Mouse as Mouses”. This example is
related with what type of transfer of
learning ?

(1) Positive transfer
(2) Negative transfer
(3) Zero transfer

(4) Bilateral transfer

“When an employee is not able to show
his anger to his officer then after
coming at home he shows anger on his
wife and children.” This example
shows which type of defense
mechanism ?

(1) Repression (2) Rationalisation
(3) Identification (4) Displacement

Out of the following which component
is not related to classical conditioning
theory of learning ?

(1) Shaping

(2) Excitation

(3) Extinction

(4) Spontaneous Recovery

OA
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According to Norms prescribed for
Stanford-Binet 1.Q. Scale, what is the
[.Q. Range of Moderate Mchtally

Retarded chiidreg ?
(1) 50-55to approximately 70
(2) 35-40 .to SO-SIS
(3) 20-25 to. 35-40

(4) Below 20

Out ﬁf the following which is not innate
rln_ctive? | N o
(1) Hunger

(2) Thirst

(3) Aspiration

(4) Sleep

Out of the following which is not the
characteristics of attitude ?

(1) Attitude is innate.

(2)

Attitude is not fix, it is changeable.

Attitude affect our behaviours and

3)

actions.

@

Attitude shows towards an object,

situation, person, etc.
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Which of the following objects
excavated during Ahar excavation
indicate external relations/contact ?

(I) Coppertools (2) Steatite beads
(3) Lapis Lazuli (4) Teracotta beads

A row of seven fire altars have been
found at

(1) Ahar
(3) Ganeshwar

(2) Bairath
(4) Kalibanga

_..IOn which 'aréhaepl_og:ic;qlrs'ite painted
- rock shelters have been found ?

(1) Bairath
(3) Ahar

(2) ~Kalibanga
(4) Banawali

Who was the Mongol leader who was
given shelter by Hammir. Dev, ruler of
Ranthambhor which resulted in the
attack of Alauddin on Ranthambhor ?
(1) Taimur Khan - " ~

(2) Muhammad Shah

(3) Khebru .

(4) Mohammad Khan

The drama ‘Lalitvigraharaj’ was written by
(1) Hemchandra Suri

(2) Rajshekhar
(3) Somendra . .
(4) Chand Bardai _ .

,,,,,

Who was the contemporary ruler of
Alauddin in Jalore ?

(1) Sheetal Deo
(3) Mehlak Deo

(2) Kanhad Deo
(4) Visal Deo

In which chalcolithic site large quantity .
of copper objects have been found ?

(1) Ahar (2) Bairath
(3) Kalibanga (4) Ganeshwar

0OA
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(1) S ) fmEu=-1v
(3) <ded (4) 3T

96.

97.

99.

98.

100.

Who was the contemporary of Bhoja-I
in Gauda (Bengal) ?

(1) Kakkuka (2) Devpal
(3) Trilochanpala (4) Rambhadra

Where did Pratap establish his new
capital in 1585 ? '

(1) Chavand
(3) Diber

(2) Gogunda
(4) Chittor

Who inaugurated Jagir-Muafi Praja
Conference at Rajgarh, organised by
Alwar Rajya Praja Mandal on June
19417

(1) Shri Satyadeo Vidyalaﬁkdr
(2) Hari Narain Sharma

(3) ‘Kashiram Gupta

(4) Master Bholanath

Consider the following statements
related to Vijay Singh Pathik :

(A) Related with Raas Bihari Bose’s
Revolutionary Party.

(B) He established Vidya Pracharani
Sabha.

(C) He founded Seva Samiti.

(D) Founded Akhara with the help of
Sadhu Sita Ram Das.

Which of the above is correct ?
(1) (A), (B)

(@) A (©

(3) (A), (B),(©)
4) (A),(B),(C), (D)

Which  Chauhan  ruler
‘Javalipura’ into ‘Jwalapura’ ?

(1) Jaggdeva (2) Vigraharaj-1V
(3) Devdutta (4) Arnoraja
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